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What is a “hindcast” simulation?

Reanalysis product
<1'---------

10m wind (vector mean)
average (1981-2016) January

ERREAAAAAAAANAATT T TYPP>P AL A AV VYNNI

N
o S

““Realistic” spatiotemporal history of observed:
* Momentum fluxes
* Heat fluxes

* Freshwater fluxes
schematic: Holly Olivarez



3 flavors of hindcasts with OBGC information:
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3 flavors of hindcasts with OBGC information

globally integrated sea-air CO, flux
(PgCyrT)
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Hindcast models
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Hindcast models and observational products

globally integrated sea-air CO, flux
(Pg Cyr)
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Hindcast models and observational products
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The end!



Supporting slides



Atmospheric yCO,
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Does spin-up matter?

MRI-ESM2 /| OMIP1
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